Lesson 10.4 Worksheet Name: Y,E\f

Events A and B are disjoint. Find P(A or B).

1)P(A) =03, P(B)=0.1 2)P(A) =041, P(B) =024
\?(AWB\“OﬁvQ\'\O-L\\ P(AorB\-G“\\*OZﬂ -10.65 |
3.) P(4) —; P(B) =3 4)P(A) =2, P(
3
PIA or ¥ LVoE paer)- % %= =)
Find the indicated probabllltv.
5.)P(A) = 0.5, P(B) = 0.35 6.) P(4) = 0.6, P(B) = 0.2
P(Aand B) = 0.2 P(Aand B) =
P(AorB) =7 P(AorB) =0.7 7
Y(Aur B)= 0.5 +035-0.2 01-04 +0.2 -V(A>B)
Aor5)=10.45 | P(A> B)~
7)P(A) =2, P(B) = 8)P(A) ==, P(B) =
P(Aand B) =~ P(Aand B) =
P(A orB) 73- N P(A orB)=-111
}/:m B?S; v W=+ T - P(Aand )
0v
'j P (A anA B)= E
Find P(A).
9.) P(A) = 0.5 10.) P(4) = 0 11) P(4) =2
P(R)- 1-0.5 P(A) =10 PR)-

: R
P(R)0.5) P PIAEE)
A card is randomly drawn from a standard deck of 52 cards. Find the probability of drawing
the given card. Express your probabilities as simplified fractions.

12.) A king and a diamond 13.) Aking orif_iamond
\__ Y(Lord):s5 v 5T ~ 53 - \L\LN
14.) A spade or a club 15)A4o0ras :
P(‘m"} t)’i +:)32' \"_\ \)k\\(\r 5\)“ %‘[ ¥ r? = ]a

e D )
16.) A 6 and a face card 17.) Not a heart

Y v(g)\ - vY)

=] S

P@)=17 9527 |4
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Find the indicated probability. State whether A and B are disjoint or overlapping events.

—

18.) P(4) = 0.25 19.) P(4) =?

P(B) =0.4 P(B) = 0.38

P(AorB) = 0.5 P(Aor B) = 0.65

P(Aand B) =? P(Aand B) = 0 iok\si()\r\’r]
U\-}k M;}* Oﬁ'-\iwm) 045~ YA+ 0.3

AACB) -1009) IR
NG lagpig | P =021

200PA) == 21.) P(A) = 16%

P(B) =? P(B) =?

P(Aor B) = % P(Aor B) = 32%

P(Aand B) = = P(A and B) = 8%
s R - 9%~ o'l +¥(8) -3%

P08 = 5] owecloyping) PU8) 124 % | ontappiriy|

Two six-sided dice are rolled. Find the probability of the given event.

22.) The sum is 3 or 4. A 0| 0 O 28 Bl
.3 - '\Q\; OF Of Of DR OF O
a3 Om OF O 08 56 06

23) The S B ) Of OF OF O R DR

P(57) ',\'fg__@ OR OR OF OF 08 DS

24.) The sum is greato? thamrorequal to 5. DE OF DE O CB O

P(529)= \- P(5¢5)
= \" ;jm\'ﬁ = @1
25.) The sum is less than 8 or greater than 11.

\'}(SL% Or 57\\) = %\3 ¥ —%E = l\% 4y
PLSLE) + PV 2 110

26.) Of the 120 students honored at an academic banquet, 40% won awards for mathematics and

W% € 55% won for English. Fourteen of these students won awards for both mathematics and

0 English. One of the 120 students is chosen at random to be interviewed for a newspaper
article. What is the probability that tl}g student won an award in mathematics or English?

~Y- M43 . Ww _ W _ |s
Y(MQV' [-) 120 \’L/_O VI8 - lf

: o
P(H) + PLE) - VLM E)
27.) The organizer of a cast party for a drama club asks each of 6 cast members to bring one
item from a list of 10 items. What is the probability that at least 2 of the 6 members bring

. o \
the same l__telp? A\ =¥ LAN O TR UNT)

" Wwlv |
\ = Sov & |0.9183
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